2.3 Business Applications Using Quadratics
, April 1, 2022 8:41 AM

Qeeodd Had RNz px e

L
/
T () = urlp Nne
¢
P(x)= R(x)-CCx) g

i?}(-(rﬂxf\’))

\(we

STUDENTS-HUB.com Uploaded By: Jlbreel Bornat



_ --90, c=%° -
az! , b / _ o
o Ile
_\Oim - ’_M — q——’{:"
= 2 o~ : 2()
qo x1©_ _ \UO_;GD/’QX’)
Xw — T T2
7
o oo - T - o T
e T

_ _epen o//']é)
X - 650 % afe \Q(Co\\( V
Fq 2H0

L evenm 0%(5
~ — ,0 Reﬂc«/\u?— J bm ‘0
STUDENTS-HUB.com Uploaded By: Jibreel Bornat



b hreuk evea points
R

@ ),’{‘,, J Rerenve

R(X\"\%O% - R(Xx):\Q(GO):\so

Rb("') ~ R4o) :}f\’;o(wo) Lt

' )
find Wil ot bf%‘cw”ﬁ“

b o) = O
() = o0 xYox XKD ¢ (x)= €(50) = 65°
o) () = CCH0) (5w

-

) «(19)

( (4o) = 1000 xyo( 4o
e \éOO

- OO X \60©

) ke Reveme

@Skcjcdn the ol (ort A

g cwo > Rx)
; .
R(X) e \30 X L‘nt RUO) coet ;
: Y ;
C(,()‘:. ) OO + VYo x+ X . C(X}>R(ﬂ) {o“ .
?ma\oo\b\ \
V )Q 16 B SR DT
- <o ot . —t il p - ’ ; . —> 1964, , , >x
-\ So D opens uP .Y |

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



- o = v
- W J \Gfﬁa.k-ejt}@m P@,ML

bj%(? s £ = LO0C
O

-~ ———| = =20

o af yendey <S5

( (-19) = 2000 +YO(-10) * (~wf' — edo— 900 xY00 = \(oo

\lef\{’( i (_, ZC?/ lb@(_))
on S “/Q/te/{ Hae C'@W\faﬁ

@ (cpwllg Hhe (%9 dose | s ™

malkes ?w(“x »

, oduceg ok~ A \
Lo Y“Cf){ow [k 5”{0 e

R R oV % =0

\ ‘{efﬁioﬂ 3 Q\(ogu(“ Ak \@/ue/[
qo < A < 56

@ U\)L\@u\ e C@mpay MaF& }j{fg,ffofp‘*

e (¢

a RE=Ne oV of BET
5) Fad bl b
- itk AR AR

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



A 1S 3
Ard
(P(X): R (N ~ Ccx) e /
?
=\ - ('2000«- Yo x -%X)

y 2

ML e — LR _—Y4ox —X

—————

—

T

=~ C]OX-—?,CPOO o B

jo —XQ#C[OX - L /

Nole HMQ Q)(WO): P(s0) = ©
////”//—J

C§7(*MW He pofit Concl cor

X?'* qox — 200

(x)
P/

o (X) = -
| Hox prd |

)(" / /\P(“IO):D ol

)(-M\ed(,@{)k Q(‘ao)i‘«b

N{v

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



puis of oMty ¥E - T TGNV [
PO) o)
Vedeo o 9 (u5) = = (45) % Jo(5) - 2000 s
] - - 2619 5 MMobo -1
(\16/7’\’0 = 26

! U\"‘AO\JQ’ \(’N@a ﬁ PR:CO UCL\C)J\ X
AX 1 MU TOF \'
e (,om% males M f

=) Compay makes wmax  profr

| p(45) = 26 _—
Owhd does  x- i bevcept OQ” e

r])fo[( ,‘r|~(_)/L MQM?

7(:"(1')

= = % afe.  Bieak - =ven \F”“‘b

X = 50 where  profik = TO
e Vo[m‘»yl' s
@ For ofad Jalloe, of x yg;ﬁjvﬂ,
For yo< x & 6P
DFJ’;S

() for ohed v o X P

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



@ @/ (JMJL \Jobvﬂbs oﬁ X he P\:\";‘a‘;iwe?

FO/ 52 B2 M0 oV

—

60 L A
)M:

19 Descrive. e awye
O T O

MQ aﬁlf/ ¥ =45

7>
_ 7% V3o ¥

2
)= ) N o
?(' ) _ _916 EEK %) P(X) - =X y 90X -1°
. 00 k“”, V) )~
o i _Y'L}"D’l 26
&= =
?B i 100 ﬂ? 5:\/)3 |
4 o
— : ¥ & o
v N
’\/Q - Q00 = @ 7 /// 4/3:/\"/: 1
,;\r?' 3}@@) ¢ =
L, 5” 8375 -

/

@e{’of Xx= Vo = the (mpmy ( men l nCrCMeEs  ax X‘]‘
| “w="%n =) 7 Z, - 1 (ows)mQO‘ o 25
o -

' A YT
e AsE =) @ 7 L 15 deelesshy ax

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



STUDENTS-HUB.com Uploaded By: Jibreel Bornat



b ’;\]_E/_ —(8) 265 ,/
?’ 100

— 65
2 (\)
_65 %69
- T P
|O
g xb65 _ Q@,_—/’;o < =>¢= 7*
i‘: ‘T - 3010

w,_/ %
/

Caq.

_ 30 Healcel ¢

£ UW"(( \g o > @*‘/ P> ;\'50):9

;7 (?{\CC, ) J k9
3

<\)tm\\)\ '. W\ “ﬁt lo%5 PT\“'\D%) / SQQQ\}

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



mo o
frice = 1)
10 ( o,
) \1‘70’8)
(\060,6?
— —>
A 30 "+~> \5° 150 1690 ?
Yﬁ ' 0 ?0) \‘;O\ ”ﬁo oP T
[ [10%9 o w[1v) 3|6 T
7 ('30; ‘ID) &.fo?ﬂl[

STUDENTS-HUB.com

Uploaded By: Jibreel Bornat



